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Question 1 (*%%)

A bag contains a large number of coins. Half of the coins are 10 pence pieces, one third
are 20 pence pieces and the rest are 5 pence pieces.

A sample of two coins is selected at random.

Determine the sampling distribution of the mean of the two coins.

Question 2 (*%%)

A bag contains a large number of coins. Two thirds of the coins are 20 pence pieces and
the rest are 50 pence pieces.

A sample of three coins is selected at random.

Find the sampling distribution of the median of the three coins.

median |20( 50

P(median) % %
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Question 3 (**%)

A bag contains a large number of coins, some 5 pence pieces and some 10 pence pieces.
The ratio of 5 pence pieces to the 10 pence pieces is 1:4.
A sample of three coins is selected at random.

Find the sampling distribution of the mean of the three coins.

mean ‘ 5 ‘%‘%‘ 10
P(mean)‘%‘%‘%‘%

Question 4 (**%)

A large number of light bulbs are stored in the stock-room of an electrical shop.
The ratio of 60 watt bulbs to 100 watt bulbs is 1:3.
A sample of three light bulbs is selected at random.

Find the sampling distribution of the mode of the three bulbs.

mode |60(100
P(mode) % %
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